	PHÒNG GD-ĐT
HỒNG LĨNH
	KỲ THI CHỌN HỌC SINH GIỎI LỚP 9 NĂM HỌC 2011-2012

MÔN THI: TIẾNG ANH

Thời gian làm bài: 150 phút (không kể thời gian giao đề)


	Điểm bằng số


	Điểm bằng chữ
	Giám khảo

1.

2.
	Số phách


Lưu ý:  - Đề thi này gồm 04 trang, thí  sinh làm bài trực tiếp vào đề.
             - Thí  sinh không được sử dụng bất kỳ loại tài liệu nào.
I. Find only one word whose underlined part has different pronunciation from that of the other words.

	1. A. Valentine
	B. imagine
	C. discipline
	D. magazine  

	2. A. admirable
	B. adventure 
	C. advertise
	D. adverb  

	3. A. moustache
	B. machinery 
	C. champagne
	D. championship  

	4. A. exist
	B. exhibit 
	C. exhibition 
	D. exactly   

	5. A. miles
	B. sleeps 
	C. laughs
	D. unlocks  

	6. A. champion
	B. scholar
	C. merchant
	D. chamber

	7. A. caused
	B. forced
	C. stopped
	D. increased

	8. A. shortage
	B. carriage
	C. teenage
	D. storage

	9. A. examine
	B. determine
	C. mine
	D. famine

	10. A. afternoon
	B. school
	C. soon
	D. good


II. Put the verbs in bracket in correct tenses or forms.

1. There used (be) ……………….…… a bookstore near my school, but it closed last week.

2. I wish Lan (not sit) ……………..…………….. next to me. She’s annoying.

3. It’s necessary (review) ……………..…………… the previous lessons before school.

4. Did she agree (go) …………………………..…………camping with you?

5. She advised her brothers (give) …………………..…………… up smoking.

6. The doctor made my sister (stay) …………….………………… in bed until she felt better.

7. Nothing (do) …………………………………..………… since you went to the market. 
8. Neither John nor his friend (come) ………………..…………………………… yet.

9. Do you have your house (paint) ………………………………… at the moment?

10. Water can’t (find) ………………..……….. here. People must go to a lake nearby to get it.

III. Choose the best answer.

1. A contest…………………. next week.

	A. are held
	B. will be held 
	C. used to be held
	D. will hold


2. You should have a/ an ………………. check your motorbike regularly.

	A. electrician
	B. carpenter 
	C. mechanic
	D. plumber


3. She’s very intelligent. ……………….. , she’s quite lazy.

	A. Therefore  
	B. But   
	C. However
	D. So


4.  Sorry, I’m late. The car………………………… on the way here.

	A. put up
	B. broke down
	C. drove off
	D. get on


5. Although he shouted, he couldn’t make his voice………….

	A. hear
	B. to hear
	C. heard
	D. to be heard


6. She is very kind. She is always……………… towards her employees.

	A. distinguished
	B. proud
	C. considerate 
	D. happy


7. Whatever you do, you mustn’t……………that switch. It’s very dangerous.

	A. get
	B. take
	C. bring
	D. touch


8. The club is for members only. You ………………. you’re a member.

	A. can’t go in if
	B. can go in only
	C. can’t go in unless 
	D. can go in unless


9. Jane takes better photographs than…………… 

	A. me
	B. I  
	C. I take
	D. me take 


10. I asked two people the way to the police station but………………. of them knew.

	A. none
	B. either
	C. both
	D. neither


11. It’s late. It’s time…………..home.

	A. we go 
	B. we must go
	C. we should go
	D. we went


12. It took us quite a long time to get there. It’s…………. journey.

	A. three hour
	B. a three hours
	C.  a three-hour
	D. three hours


13. The waiter……………for pouring wine on the man’s suit.

	A. order
	B. apologized
	C. waited on
	D. recommended


14. The radio is…………loud. I can hear the noise.

	A. too many
	B. too much
	C. much too
	D. very much 


15. He spoke………… the subject of wild life in Northern Vietnam.

	A. in
	B. on
	C. with 
	D. from


16. My brother can’t play tomorrow and……………………

	A. either can I
	B. neither can I
	C. neither I can
	D. I can’t too


17. Thank you very much for the card you sent me while I was in hospital. It’s very...…of you.

	A. grateful
	B. generous
	C. thoughtful
	D. appreciative


18. No one can make me………….my mind.

	A. change
	B. to change
	C. changed
	D. changing


19. I didn’t hear you...............in. You must have been very quiet.

	A. have come
	B. came
	C. to come
	D. come


20. My mother used to ………. research in this library when she was a student.

	B. do
	A. make
	C. making 
	D. doing


IV. There is a mistake in each sentence below. Underline the mistake and write the correct sentence.

EX: I am reading a book which it is very interesting.


→   I am reading a book which is very interesting.

1.   My mother, that is nearly 60, is coming to live with us.

      …………………………………………………..................................…...............…...….
2.   Andrew has been a teacher of English since a very long time.

      …………………………………………………….......................................................……

3.   It is not easy to grow up children in a modern world.

      ……………………………………………………..........................................................…

4.   I think we should go some sightseeing this afternoon.

………………………………………………………............................….....................….

5.   The room where I am staying in is very noisy.

……………………………………………………………...............................................…

6.   This is Peter, who his sister works at your school. 

………………………………………………………...................................................……

7.   Do you want to see the pictures that we took them on holiday?

……………………………………………………………...............................................…

8.   Have you ever considered to become a professional footballer?

…………………………………………………………..................................................…

9.   I’ll give Tania your letter if she will come to school tomorrow.

…………………………………………………………………………...............................

10. I’ve really got to cut up smoking.

…………………………………………………………..................................…..........….
V. Use the word given in capitals at the end of each line to form a word that fits in the space in the same line. The first one has been done for you (0).
                EAT MORE FRUIT AND VEGETABLES
          A recent report on the (0)   eating habits of children in Britain 
EAT
suggests that children from the age of three to sixteen show a 


strong (1) ................................................. for vegetables and only eat 
LIKE
(2) ................................amounts of fruit and vegetables at Christmas.
SUFFICE
One researcher says not eating (3) ...................................... may have
PROPER
serious consequences on a child’s (4) .............................and physical
SPEAK
development, resulting in poorer performance at school. One


(5) .............................. is to give children extra iron and vitamins but
SOLVE
 in the long run it is more (6) ..................................if children get the
EFFECT
right ingredients in their (7) .......................................diet.
DAY
(8) ..............................., parents choose food for their children that is 
FORTUNATE
quick and (9) .................................to prepare, rather than food which 
CONVENIENCE
is fresh and healthy. (10) ............................., it is difficult later to get 
CONSEQUENCE
children to change their habits.

VI. Complete the passage by filling a suitable word into each gap:


I was born …(1)…  Newcastle, a city in the North East of England. Newcastle is …(2)… the bank of the River Tyne . It is quite big, with a …(3)… of about 200,000 people . …(4)… is a cathedral and a university . There are five …(5)… over the River Tyne , …(6)… link Newcastle to the next town , Gates head , where there is one of the biggest shopping centers in the world . A few years …(7)… , the main industries were shipbuilding and coalmining , but now the chemical and soap industries are important . I moved to London ten years ago …(8)… I often return to Newcastle. I miss the people, …(9)… are very friendly , and I miss the beautiful countryside near the city , where there…(10)… so many hills and streams.


Your answers 

	1.
	2.
	3.
	4.
	5.

	6.
	7.
	8.
	9.
	10.


VII. Rewrite these sentences, beginning with the words given in such a way that they remain the same meaning as the old ones:

1. Mary hasn’t made any long trip for five years.

-> The last….......................................................................................................................…..

2. He didn’t need to be reminded about it.

-> It wasn’t…………………………………...........................................................................
3. “How long has it been since you left this city, Bob”?

-> He wanted to know…………………………………….......................................................
4. The children are taken home by bus. Their parents work late.

-> The children……………………………………………….................................................
5. I had just arrived home when she came

-> No sooner............................................................................................................................
6. The open-door policy has brought about a lot of radical changes.

-> Thanks to.............................................................................................................................
7. I don’t play tennis as well as you do.

-> You .....................................................................................................................................
8. The way he talks is very interesting

-> There is something..............................................................................................................
9. Did people make jeans two hundred years ago?

-> Were ...................................................................................................................................?
10. This is the best computer I have ever used.


-> I have never  ......................................................................................................................
VIII. Write a paragraph of 100-150 words to support the argument that secondary school students shouldn’t spend too much time playing computer games.
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HƯỚNG DẪN CHẤM

Tổng: 20 điểm

CỤ THỂ:

I. Find only one word whose underlined part has different pronunciation from that of the other words.

(10 x 0.2 = 2.0 điểm)

	1. A. Valentine
	6. B. scholar

	2. B. adventure 
	7. A. caused

	3. D. championship  
	8. C. teenage

	4. C. exhibition 
	9. C. mine

	5. A. miles
	10. D. good


II. Put the verbs in bracket in correct tenses or forms.
(10 x 0.2 = 2.0 điểm)

	1. to be
	6. stay

	2. didn’t
	7. has been done

	3. to review
	8. has come

	4. to go
	9. painted

	5. to give
	10. be found


III. Choose the best answer.

(20 x 0. 2 = 4.0)

	1. B
	2. C
	3. C
	4. B
	5. C
	6. C
	7. D
	8. C
	9. A
	10. D

	11. D
	12. C
	13. B
	14. C
	15. B
	16. B
	17. C
	18. A
	19. D
	20. A


IV. There is a mistake in each sentence below. Underline the mistake and write the correct sentence.
(10 x 0.2 = 2.0 điểm)

1.   My mother, who is nearly 60, is coming to live with us.

2.   Andrew has been a teacher of English for a very long time.

3.   It is not easy to bring up children in a modern world.

4.   I think we should do some sightseeing/ go sightseeing this afternoon.

5.   The room which I am staying in is very noisy./ The room where I am staying is very noisy.
6.   This is Peter, whose sister works at your school. 

7.   Do you want to see the pictures that we took on holiday?

8.   Have you ever considered becoming a professional footballer?

9.   I’ll give Tania your letter if she comes to school tomorrow.

10. I’ve really got to give up smoking.

V. Use the word given in capitals at the end of each line to form a word that fits in the space in the same line. The first one has been done for you (0).                                

(10 x 0.2 = 2.0 điểm)

1. dislike
6. effective


2. sufficient
7. daily


3. properly
8. Unfortunately


4. speech
9. convenient


5. solution
10. Consequently

VI. Complete the passage by filling a suitable word into each gap:

(10 x 0.2 = 2.0 điểm)

	1. in
	2. on
	3. population
	4. there
	5. bridges

	6. which
	7. ago
	8. but
	9. who
	10. are


VII. Rewrite these sentences, beginning with the words given in such a way that they remain the same meaning as the old ones:

(10 x 0.2 = 2.0  điểm)

1. The last time Mary made a long trip was 5 years ago.

2. It wasn’t necessary to remind him about it.

3. He wanted to know how long it had been since Bob left that city.

4. The children whose parents work late are taken home by bus.

5. No sooner had I arrived home than she came.

6. Thanks to the open - door policy, a lot of radical changes have been brought about.

7. You play tennis better than I do (than me).
8. There is something very interesting in the way he talks.

9. Were jeans made two hundred years ago?
10. I have never used such a good computer/ I have never used a better computer than this..

VIII. Write a paragraph of 100-150 words to support the argument that secondary school students shouldn’t spend too much time playing online games.
	- Đúng chủ đề

- Đảm bảo nội dung 

- Đúng chính tả và ngữ pháp

- Diễn đạt ý trôi chảy; có kết nối ý.
	· 1.0 điểm

· 1.0 điểm

· 1.0 điểm

· 1.0 điểm
	= 4.0 điểm


*     Tùy mức độ thí sinh viết được, giám khảo dựa vào thang điểm để quyết định.

The end
